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1. Which of the following is not a factor of4x4y4z5 ?

() 2x%432 (i) 2x442% (i) 2x322 (iv) 2x3)%2° (v) 2x°)° 20

2. The degree of polynomial(—4pg+5p+8g—1)is
(i) 1 (i) 2 (ii) 3 (iv) 4 (v) O

3. Which of the following is not an irreducible factor of()(2y+)(y2 +xy)?

(i) x (i) xy (i) (x+y+1) (iv) y

4. The coefficient of term de3 in polynomial(8c3 d?e?-4c3d%+8cd-2d3e? +7de3 —3de+9ez) is

(i) 7 (ii) 5 (i) 9 (iv) 6 (v) 8

5. Which of the following is an irreducible factor of28x4y225 ?

M) y (i) Y2z (i) X222 (v) Xy (v) x2°

6. Which of the following is a like term of2/'j2 ?

(i) (=6hi2) (i) A2R2 (i) (—i2) (iv) 5A% (v) 9hj

7. The degree of the polynomial (—552 +75-9)is

(i) (-1) (i) 3 (iii) 2 (iv) 1 (v) 4
8. Which of the following is a factor of(4x+y323) ?

(i) 2¥2 (i) nofactors (i) 2xz (iv) 4x (v) Y323

9. Which of the following algebraic expressions is a trinomial?

(i) (=4c) (i) (—=8c3+6c—1) (i) (=7c*+9c2) (iv) (-4t =3 +8c%+5c+4)

(v) (=3c*-9c3+4c2—7c+4)

10. The degree of the polynomial(9e—-6) is
(i) 0 (i) 2 (i) 4 (iv) 1 (v) (-2)

11. The value of the polynomial (=3 WX2) at w=(-3),x=0,y=(-2) is

(i) 3 (i) -2 (ii) -1 (iv) 1 (v) O
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The degree of the polynomial(—865—2e4—6e3 +4e? —-2e)is

(i) 6 (ii) 5 (iii) 3 (iv) 8 (v) 4

The coefficient of term nin polynomial(no—7n—-80+5) is

(i) -7 (i) -8 (iii) -5 (iv) -10 (v) -6

The value of the polynomial(—6h/)at g=(-3),h=1,/=4 is
(i) -22 (ii) -24 (iii) -25 (iv) -23 (v) -27

The value of the polynomial (8 2uv2 —4uv?+2)at t=1,u=(-5), v=(-1) is

(i) -15 (i) -17 (iii) -18 (iv) -19 (v) -20

Which of the following are not polynomials?

a) (4x+11y)

1

b) 144x%+
144 x

c) vx

d) (x—11y)

e) 144 x2

(i) {d,c} (i) {e,a,b} (i) {a,b} (iv) {d,c,b} (v) {b,c}

Which of the following algebraic expressions is a zero polynomial?

(i) 0 (ii) (=2K3m3=8PRm2+3) (iii) (=3K3Pm) (iv) (K3Pm2=2k>Pm?+3Im-2m)

) (=5k2m-=383m)

IXcXcXcXdXdXdXdXeXeXe=

3

i) 11c3d%e3 iy 9ctd*ed i) 94t e

3 3

(iv) 9c2d%e> (v) 6cd% e

d4e

Which of the following algebraic expressions is a monomial?

(i) (33+42&3) (i) (P=6/2k2+2jkP —6jki?) (i) (=72k3P=42kP+9Kk2 P +2kl) (iv) 2/2K31

(v) (82 =5k%2=5k)
The degree of ponnomiaI(—9fzg2 +4fg+g+6)is
(i) 6 (ii) 1 (iii) 4 (iv) 5 (v) 3

The coefficient of term gin polynomial(—=3g+8) is

(i) -1 (i) -3 (i) -2 (iv) -4 (v) -6

The value of the polynomial(—Sez—e—Z) at e=3is

(i) -77 (i) -79 (i) -74 (iv) -78 (v) -76



23. Which of the following is a factor ofx3yz?

(i) xy2z (i) xz (i) xZ22 (iv) x*z (v) x3Z2

24. Which of the following algebraic expressions is a binomial?
() (—6RPK2+43j—9k+7) (ii) (—8P2K3+222K2) (i) 472/2K3 (iv) (7P =5 k+5i/%2k?)
V) (=2R K3 +3iPk=9ik3+9,2)

25. Which of the following terms is a like term of (=7) ?

(i) (=7/4) (i) 272 (i) 2r (iv) 6 (v) 49



Assignment Key

1) (v) 2) (ii) 3) (ii) 4) (i) 5) (i) 6) (iii)
7) (iii) 8) (ii) 9) (ii) 10) (iv) 11) (v) 12) (ii)
13) (i) 14) (ii) 15) (iii) 16) (v) 17) (i) 18) (iii)
19) (iv) 20) (iii) 21) (ii) 22) (i) 23) (ii) 24) (ii)
25) (iv)

Copyright © Small Systems Computing Pvt. Ltd.



